mppt algorithm

voltagePin =
E currentPin =
pwmPin = 9;

previousPower = @;
previousVoltage
stepSize = 0.1;

setup() {
pinMode(pwmPin, OUTPUT);
Serial.begin(96e

}

1 loop()
voltage = analogRead(voltagePin) * (5.8 / 1023.0) * (30.0 / 10.9)
current = (analogRead(currentPin) - 512) * (5.0 / 1023.0) / 0.18
power = voltage * current;

power > previousPow

analogwrite(pwmPin, min(255, analogRead(pwmPin) + stepSize));

previousPower = power;
previousVoltage = voltage;

al.print(
al.print(voltage
~ial.print(” v,
ial.print(curren

delay(1000);
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